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/OR 
¼v½ dj fu/kkZj.k vf/kdkjh dkSu gS\  

Who is an Assessing Officer?  
   

¼c½ LFkkbZ [kkrk la[;k D;k gS\ 

What is a Permanent Account Number?  
 

¼l½ vihysV fVªC;uy dk dkSu lnL; gks ldrk gS\ 

Who can be a member of Appellate Tribunal?  
--------xxxx------- 

 
 
 
 
 
 
 
 
 
 
 
 
 

 
[1] 

ROLL NO..................... 
BC3 GI01/22 

ANNUAL EXAMINATION, 2022 
B. COM. – III 

GROUP-I , PAPER-I 
INCOME TAX 

TIME: 3 HOURS               M.M. 75 
    MINI.M.25 

:-   
Note:  Attempt all the five questions. One question from each unit is 

compulsory. All questions carry equal marks.   
 

1/Unit-1 
 ¼v½ ldy dqy vk; o dqy vk; esa  varj dhft,A  

Differentiate between Gross Total Income and Total 
Income.  

   
¼c½ vkaf'kd d`f’k vk; D;k gS\  

What is Partly Agricultural Income?  
 

¼l½ vk;dj vf/kfu;e dh /kkjk 10 ds varxZr ikap dj eqDr vk;sa 

fyf[k,A  

Give any five examples of income exempted under section 
10.  

P.T.O.
. 
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[2] 

 
/OR 

Hkkjrh; ukxfjd MkW- fnus'k ¼ljdkjh deZpkjh½ dh xr’kZ 2020&21 dh 

dj ;ksX; vk; fuEufyf[kr gS &  

  :- 

(i) fons'k eas lsok djus izfrQy esa fons'k esa gh 

izkIr osru ls vk; ¼x.kuk dh xbZ½ 

25,00,000 

(ii) Hkkjr esa fLFkr df̀’k Hkwfe ls vk; 1,00,000 
(iii) ,d fons'kh dEiuh ls ykHkka'k fons'k esa izkIr 

fd;k rFkk ogh ,d cSad esa tek fd;k 

30,000 

(iv) Hkkjr esa edku lEifRr ls vk; fons'k eas 

izkIr dh 

1,50,000 

(v) Hkkjr esa fLFkr ,d nh?kZdkyhu iwath lEifRr 

ds gLrkUrj.k ls vk; 

2,00,000 

(vi) Hkkjr esa cSad tek ij vftZr C;kt ,oa izkIr 

C;kt 

50,000 

(vii) lkoZtfud Hkfo’; fuf/k ls izkIr Hkqxrku 25,000 
 

MkW- fnus'k dh dj &fu/kkZj.k o’kZ 2021&22 ds fy, ldy dqy 

vk; dh x.kuk dhft,] ;fn og & 

(i)  fuoklh gS    

(ii)  vlk/kkj.k fuoklh gS      

(iii)  vfuoklh gS 

 
[13] 

 
¼c½ lquhy xks;y dh foRrh; o’kZ 2021&22 ds fy, pkyw vk; dk 

vuqeku fuEufyf[kr gS&  

         :- 

O;olk; ls dj ;ksX; vk;  13]00]000 

vU; lk/kuksa ls dj ;ksX; vk;   5]00]000 

mlus vius thou ij ,d thou chek ikWfylh ys j[kh 

gS ftldk okf’kZd izhfe;e 45]000 :- gSA vfxze dj dh x.kuk 

dhft, ,oa fofHkUu ns; frfFk;ksa ij tek dh tkus okyh jkf'k 

Kkr dhft, ;fn lquhy xks;y dh ,d vk; esa mn~xe LFkku 

ij dj 10]000 :- dkVk x;k gksA og ubZ dj O;oLFkk dks 

viukrk gSA  

Sunit Goyal estimates her current income for the 
financial year 2021-22 as follows –  

 Rs.  
  Taxable income from business  13,00,000 
  Taxable income from other sources     5,00,000 

He has taken a life insurance policy on his life 
whose annual premium is Rs. 45,000 . Calculate advance 
tax and find out the amount to be deposited on prescribed 
dates assuming that the tax deducted at sources on an 
income of Sunil Goyal is Rs. 10,000. He does opt new tax 
regime.  
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[12] 
 
From the following particulars of Shri Sanjay calculate his gross 
tax liability for the assessment year 2021-22 

 :- 
Salary 15,00,000 
Business Income 5,10,000 
Royalty on Books for colleges 50,000 
Rent from house property 35,000 
Divident income (Gross) 35,100 
Interest on Govt. securities 10,500 
Income of minor son 22,500 
Long-term capital gains 60,000 
Contibution to P.P.F. 65,000 
Life insurance premium paid 18,000 
Health insurance premium paid by cheque 16,000 
Donation to national defence fund by cheque  12,000 

5/Unit-5 
 ¼v½ mn~xe LFkku ij dj dVkSrh ls D;k vk'k; gS\  

What is meant by Deduction of Tax At Source?  

 
[3] 

 
Indian citizen Dr. Dinesh (Government employee) has the 
following taxable income for the previous year 2020-21 – 
  Rs. 
(i) Income from salary received in foreign 

country for services (computed) 
rendered in that country 

25,00,000 

(ii) Agricultural income from agriculture 
land situated in India 

1,00,000 

(iii) Dividend from a foreign company 
received in foreign and deposited in a 
bank there 

30,000 

(iv) Income from house property in India 
received in foreign 

1,50,000 

(v) Income from transfer of a long-term 
capital assets situated in India 

2,00,000 

(vi) Interest earned and received in India 
from bank deposits 

50,000 

(vii) Payment from Public Provident Fund 25,000 
 Compute gross total income of Dr. Dinesh for the 
assessment year 2021-22 if he is – 
(i) Resident   
(ii) Not ordinarily resident  
(iii) Non-resident  
 P.T.O.

. 
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2/Unit-2 

 fe- osn izdk'k ,d lfefr }kjk lapkfyr izkbosV Ldwy esa 25000 :- 

ekfld ij v/;kid gSa] mUgsa osru dk 50% egaxkbZ HkRrk 1000 :- 

izfrekg euksjatu HkRrk rFkk 500 :- izfrekg izkWDVj ¼Proctor½ HkRrk 
Hkh izkIr gksrk gSA o’kZ esa mUgsa 650 :- izfrekg vfrfjDr egaxkbZ HkRrk 

Hkh izkIr gksrk gSA  

og vius osru dk 13% Hkfo’; fuf/k esa va'knku djrs gSa rFkk 

Ldwy Hkh bruk gh va'knku djrk gSA 12% okf’kZd C;kt dh nj ls 

muds Hkfo’; fuf/k dh lafpr jkf'k ij 15000 :- C;kt tek gqvkA osn 

izdk'k ds rhu cPps ,d laLFkk esa i<+rs gSa] tks mlh lfefr }kjk 

lapkfyr gS tks Ldwy dks lapkfyr djrh gSA vr% mUgsa dksbZ O;; ugh 

djuk iM+rk gSA lk/kkj.k rFkk ,slh laLFkk esa ,d cPps dks i<+kus dk 

[kpZ 2000 :- ekfld vkrk gSA osn izdk'k dks 'kgj esa ¼ftldh 

tula[;k 25 yk[k gS½ fdjk, ls eqDr edku Hkh Ldwy dh vksj ls 

feyk gS] ftldk Lokeh Hkh Ldwy gh gSA mldk mfpr fdjk;k ewY; 

3000 :- ekfld gSA edku ds ihNs dh vksj yxk, x, ckx dks 

Bhd&Bkd j[kus ds fy, ,d ekyh j[kk x;k gS] ftldk osru 300 :- 

izfrekg Hkh Ldwy ogu djrk gSA o’kZ ds nkSjku osn izdk'k nks ekg dh 

iw.kZ osru lfgr NqV~~Vh ij vius ?kj] t;iqj x,A bl laca/k esa Ldwy 

us mUgsa rFkk mudh iRuh dks gokbZ tgkt ls vkus&tkus dk 12000 :- 

fdjk;k Hkh fn;kA 

  31 ekpZ 2021 dks lekIr o’kZ ij mudh osru ls dj&;ksX; 

vk; dh x.kuk dhft,A  

 
[11] 

/OR 
fuEufyf[kr fooj.k ls Jh lat; ds dj fu/kkZj.k o’kZ 2021&22 ds fy, 

ldy dj&nkf;Ro dh x.kuk dhft, &  

  
osru 15,00,000 
O;kikj ls vk; 5,10,000 
dkWystks dh iqLrdksa ij jkW;YVh 50,000 
edku&lEifRr dk fdjk;k 35,000 
ykHkka'k ls vk; ¼ldy½ 35,100 
ljdkjh izfrHkwfr;ksa ij C;kt 10,500 
vo;Ld iq= dh vk; 22,500 
nh?kZdkyhu iwath ykHk 60,000 
lkoZtfud Hkfo’; fuf/k esa tek 65,000 
thou chek izhfe;e pqdk;k 18,000 
LokLF; chek izhfe;e psd }kjk pqdk;k 16,000 
jk’Vªh; lqj{kk dks’k esa nksu psd }kjk  12,000 

 
 

P.T.O.
. 
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From the following particulars calculate capital gains –  
(a) Self- generated goodwill of business sold for Rs. 

25,00,000
(b) Bonus shares in B Ltd. (not listed and being short term 

capital asset) sold for Rs. 18,00,000
(c) Business income Rs. 1,60,000
(d) Long-term capital loss in the transfer of a building Rs. 

80,000. Face value of Bonus shares sold Rs. 12,00,000. 

4/Unit-4 
 ¼v½ os gkfu;k¡ fyf[k, ftUgsa vkxs ys tk;k tk ldrk gS\  

Name the losses which can be carried forward?  
   

¼c½ /kkjk 80G dh dVkSrh le>kb,A 

Explain the deduction u/s 80G.  
 

¼l½ /kkjk 80D ds varxZr dkSu dVkSrh ys ldrk gS rFkk fdruh\ 

Who can claim deduction u/s 80D and how much?  

 
[5] 

 

Mr. Ved Prakash is a teacher in a private school, run by a society on a 
monthly salary of Rs. 25000. Besides salary, he also gets 50% of salary 
as dearness allowance. Rs. 1000 p.m. entertainment allowance and Rs. 
500 p.m. as proctor’s allowance. During the year he gets Rs. 650 p.m. as 
additional D.A. 
 He contributes 13% of his salary to the provident fund. The 
school contributes an equal amount. Interest credited to his provident 
fund@12% amounted to Rs. 15000. Three children of Mr. Ved Prakash 
are studying in an institution run by the society which runs the school for 
which he paid nothing. Normally, expenditure in an institution of that 
standard comes to Rs. 2000 p.m. for one student. Mr. Ved Prakash is 
provided with a rent free accomodation in a city (Population 25 lakh) 
which is owned by the school.  
 Its fair rental value is Rs. 3000 p.m. A gardener for the upkeep of 
the garden on the back side of the house is also provided. The salary of 
gardener amounting to Rs. 300 p.m. is also paid by the school. During the 
year Mr. Ved Prakash proceeded on two months’ leave with full pay to 
him home at Jaipur. The school paid Rs. 12000 being the air fare to and 
from Jaipur for him and his wife for this purpose.  
 Compute the taxable income form salary of Mr. Ved Prakash for 
the year ending on 31st March, 2021. 

P.T.O.
. 
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[6] 
/OR 

izksQslj 'kekZ rhu edkuksa ds Lokeh gSa ftudk uxj ikfydk ewY;kadu dze'k% 

60]000 :- ] 85]000 :- ,oa 1]06]000 :- gSA ;s rhuksa edku izks- 'kekZ }kjk 

vius fuokl ds fy, iz;qDr fd, tkrs gSaA rhuksa edkuksa dk mfpr fdjk;k 

lkekU;r;k uxjikfydk ewY;kadu ds 25% ls vf/kd gSA mUgksusa fuEufyf[kr 

lwpuk,a izsf’kr dh gS &            

(i) uxjikfydk dj uxjikfydk ewY;kadu dk 15% 

(ii) izFke edku dh ejEer ij 5]000 :- f}rh; edku dh  

 vkarfjd lkt&lTtk] fp=dkjh ,oa ejEer ij 15]000 :- rFkk  

 rr̀h; edku dh ejEer ij 1500 :- O;; fd, x,A  

(iii) izR;sd edku ds lkFk ,d njoku] ,d ekyh] ,d QjkZ'k ,oa  

fctyh feL=h fu;qDr gSA izR;sd edku ds bu deZpkfj;ksa dk 

osru 18000 :- izfro’kZ gSA 

(iv) vfXu chek izhfe;e uxj ikfydk ewY;kadu dk 10% gSA 
(v) izFke edku muds firk us mUgsa fn;k FkkA firk dh olh;r ds  

vuqlkj izks- 'kekZ izFke edku dh vk; esa ls 3500 :- izfrekg 

firk ds xq:nso ds vkJe dks nsus ds fy, ck/; gS vkSj os ;g 

jkf'k nsrs pys vk jgs gSaA 

(vi) f}rh; ,oa r`rh; edku dk fuekZ.k dze'k% fnlEcj 2018 ,oa  

 fnlEcj 2019 esa lekIr gqvkA  

(vii) izks- 'kekZ us f}rh; edku ds fuekZ.k gsrq 1]75]000 :- 12.5%  

izfro’kZ C;kt ij m/kkj fy, _.k ysus dh frfFk 1-8-2017 rFkk 

_.k Hkqxrku djus dh frfFk 31-8-2020A 

edku &lEifRr ls vk; dh x.kuk dhft,A  

 
[9] 

 

From the following receipts and payments of Mr. Dinesh, 
compute his income from other sources –  
  Rs.
1. Received from Madhya Pradesh state 

Lottery (Net)   
54,500 

2. Winnings from horse race 5,000 
3. Winnings from Rajasthan State Lottery  8,000 
4. Winnings from horse race (Net) 69,000 
5. Winnings from Crossword puzzle 5,500 
6. Gift received from a friend in London 2,00,000 
7. Purchase of Lottery tickets 6,000 
8. Payments for bettings in horse race  12,000 

 

¼c½ fuEu lwpukvksa ds vk/kkj ij iwath ykHk dh x.kuk dhft, &  

¼d½ O;olk; esa Lo;a dh dekbZ [;kfr 25]00]000 :- esa csph  

¼[k½ B Ltd. ds  cksul va'k ¼viathdr̀ ,oa vYidkyhu iwath 

lEifRr½ 18]00]000 esa cspsA 
¼x½ O;kolkf;d ykHk 1]60]000 :-A  
¼?k½ Hkou ds vUrj.k ij nh?kZdkyhu iwath gkfu 80]000 :A csps x, 

cksul va'kksa dk vafdr ewY; 12]00]000 :- gSA   
 

P.T.O.
. 
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[7] 

 
Professor Sharma is an the owner of three houses the municipal  
valuations of which are Rs. 60,000; Rs. 85,000 and Rs. 1,06,000 
respectively. All the three houses are used by Prof. Sharma for his own 
residential purpose. Fair rent of all houses is generally 25% higher to 
municipal valuation. He has furnished the following information –  

(i) Municipal Taxes are levied @ 15% of M.V. 
(ii) He spent Rs. 5000 on the repairs of first house. Rs. 15000 on 

interior decoration, painting and repairs of the second house 
and Rs. 1500 on the repairs of the third house.  

(iii) A durban, a gardener, a sweeper and an electrician are 
employed for each house Rs. 18000 per annum are spent on 
their salary with regard to each house. 

(iv) The fire insurance premium is 10% of M.V.  
(v) The first house was inherited by him from his father, he was 

entitled to remit Rs. 3500 p.m. to the Ashram of his Gurudev 
out of the income of the first house and he has been remitting 
this amount regularly. 

(vi) The construction of second and third houses was completed in 
December 2018 and December 2019.  

(vii) Prof. Sharma borrowed Rs. 1,75,000@12.5% per annum for 
construction of house II. Date of taking loan 1-8-2017 and 
date of repayment of loan 31-7-2020 

Compute income from house property.  
 

 
[8] 

 
3/Unit-3 

 ¼v½ QeZ esa ^iqLrd ykHk^ dks le>kb,A 

Explain ‘Book profit’ in the firm. 
   

¼c½ izkIr djus dh ykxr dks lwpdkafdr djuk D;k gS\  

What is the indexing of cost of acquisition?  
 

¼l½ iawthxr ykHk esa /kkjk 54F D;k gS\  
What is section 54 F under capital gains? 

/OR 
¼v½ fe- fnus'k ds fuEu izkfIr rFkk Hkqxrku ls mldh vU; lk/kuksa 

ls vk; dh x.kuk dhft, & 

  

1. e/;izns'k jkT; dh ykWVjh ls izkIr ¼'kq)½  54,500 
2. ?kqM+nkSM+ ls thr 5,000 
3. jktLFkku jkT; dh ykWVjh ls thr 8,000 
4. ?kqM+nkSM+ ls thr ¼'kq)½ 69,000 
5. oxZ igsyh ls thr 5,500 
6. yanu esa ,d nksLr ls migkj esa feys 2,00,000 
7. ykWVjh ds fVfdV [kjhns 6,000 
8. ?kqM+nkSM+ esa 'krksZa ij Hkqxrku 12,000 

 
P.T.O.
. 


